ICS 103-081
Quiz 2
Question 1: (3 points)

What is the output of the following program for the input values shown in the table.

#include <stdio.h>

int main() {

	Input for i


	Program output

	6
	

	4
	

	7
	

	2
	

	0
	


int i;

printf("Enter a value for i >");

scanf("%d", &i);

switch(i) {
  case 6: i=i+3;

  case 7:

  case 5: i=i+1;

  case 4: break;

  case 3: i=i+2;

          break;

  case 2: i=i+2; 

  default : i=i+1;

  }

  printf("%d\n",i);

return 0;}

Question 2: (3 points)

  What is the output of the following program.
#include <stdio.h>

int main() {

int i,j,k;
i=0;
while(i<=7) {

 k=0;

 for(j=6;j>i;j=j-2)

   k=k+j;

 printf("%d\n",k);

 i=i+2;
}

printf("i=%d,j=%d",i,j);

return 0;}

Question 3: (4 points)

Write a program that asks the user to enter a weight in kilograms.  Then your program will print one of the following messages:

“Heavy weight”   if weight ≥ 90 Kg

“Middle weight”  if 70 Kg ≤ weight < 90 Kg

“Light weight”  if weight < 70 Kg

If the user types a negative value, the program prints “Weight must be positive”
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